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* txz 2% | NS | EW | 29223 | NS | EW | #1 | #5 | #1 | #5|#1 | #5 Mean NS EW
1 N |None 2HN4 170 3HS-2 100 270 7 NS130 1 6
2 E NS 2NN-1 100 2NS2 120 220 6 NS190 -7 2
3 S | EW 2HW-2 200 2SE3 140 340 8 NS20 5 4
4 W |Both 5DE-2 200 4DE-2 200 NS150 2 -2
5 N NS 3NW5 460 3NW4 430 30 1 EW350 -3 2
6 E | EW 3DE4 130 5DE-2 200 330 8 EWG60 -2 -6
7 S |Both 1SW1 80 1SW-1 100 180 5 NS80 -4 -1
8 W |None 3NS3 400 3DN5 150 250 6 NS270 4 3
9 N | EW 5CE6 620 6CEG6 1370 | 750 13 EW990 9 9
10 | E |Both 3SN-3 300 2HW2 110 190 5 EW140 -4 -1
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| Znsms [ Ns [ EW | 2nsss | Ns | EW | #2 | #7 | #2 ] #7 |#2]#7 || Mean | NS | EW
1| N |None| 2HS-1 50 4HN5 | 450 500 1 NS130 | -5 8
2| E|Ns| 3NS3 | 600 3NS4 | 630 30 1 NS190 | 9 | -10
3|s|Ew| 2DN2 90 3Ds3 | 110 20 1 NS20 | 2 -3
4 | W Both| 4CW-1 | 100 4DE-2 | 200 100 3 NS150 | -2 2
5| N|Ns| 3Nw3 400 4HWS5 450 | 50 2 EW350 | -2 3
6 | E|EW| 3DE4 130 5DE-2 | 200 330 8 EW60 | -2 -6
7 | S |Both| 1Sw-1 | 100 2CXE-1 | 200 100 3 NS80 | 1 3
8 | W [None] 3NS4 | 430 3NN3 | 400 30 1 NS270 | 4 4
9 | N |EW| 6DW6 1370 |  6CE6 1370 EW990 | -9 9
10 | E |Both|  2NN-2 200 3HE-1 | 100 300 7 EW140 | -2 -6
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* txz 2% | NS | EW | 24223 | NS | EW | #3 | #8 | #3 | #8 | #3 | #8 Mean NS EW
1 N [None| 4HN4 420 4HN5 450 30 1 NS130 7 -8
2 E | NS 3NS-2 200 3NN3 600 800 13 NS190 -9 -9
3| S |EW 3NN-2 100 3CSs3 110 210 5 NS20 -3 -3
4 | W |Both 4HXS-1 200 4CW-1 100 300 7 NS150 -8 2
5| N | NS 3NW4 430 5DW5 400 30 1 EW350 -2 2
6 | E| EW 5DE-2 200 3HS-2 100 300 7 EW60 6 1
7 | S |Both 1NN2 120 2NN2 120 NS80 1 -1
8 | W |None 3NS3 400 3NS4 430 30 1 NS270 4 -4
9 N | EW 6CE6 1370 3NW4 630 740 12 EW990 -9 -8
10 | E |Both 3HW-1 100 3HXW3 730 830 13 EW140 6 11
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25222 [ Ns [ EW | 25222 | Ns | EW | #4 | #9 | #4] #9 | # | #9 || Mean | Ns | EW
1 | N |None|  4HN-3 150 4HN5 450 600 12 NS130 | -7 -8
2 | E|NS 3NS-1 100 3NS-2 200 | 100 3 NS190 | -7 9
3|s |EW| 3cs-2 100 1NS2 120 220 6 NS20 | -3 -3
4 | W [Both| 3SE-1 100 4DE-2 200 100 3 NS150 | -2 -2
5| N|Ns 3NW5 460 3NW-2 100 560 1 EW350 | -3 -10
6 | E|EW| 5DE1 100 5DE-2 200 100 3 EW60 | 4 -6
7 | S [Both|  3NN3 600 1NN1 90 510 11 NS80 | 11
8 | W [None]  3NS3 400 4SN-2 100 | 500 1 NS270 | 4 9
9 | N|EW 5CE6 620 5CE6 620 EW990 | 9 -9
10 | E |Both| 3HW3 140 3HW-1 100 240 6 EW140 -6
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" 22z | NS | EW | 2922% | NS | EW | #6 | #11 | #6 [#11] #6 [#11|| Mean | Ns | EW
1| N [None] 3HN5 200 4HN5 450 250 6 NS130 | 2 -8
2 | E|NS 3NN3 600 3NS-2 200 | 800 13 NS190 | 9 9
3| s |EW 3NS-1 50 3DS3 110 160 4 NS20 | -2 -3
4 | W |Both| 4CE-1 100 4HXS4 790 690 12 NS150 | -2 12
5| N|Ns 3INW4 430 3NW5 460 | 30 1 EW350 | -2 3
6| E | EW 3HS-2 100 3DE5 150 | 50 2 EW60 | -1 3
7 | s |Both| 1swi1 80 1SW1 80 NS80 | -4 4
8 | W |[None]  3NS3 400 3NS3 400 NS270 | 4 -4
9| N|EW 3NE4 630 3NE4 630 EW990 | 8 -8
10 | E |Both| 3HW3 140 3HW3 140 EW140
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1 | N |None]  2HN5 200 4HS-3 150 | 350 8 NS130 | 2 7
2| E|Ns 3NS-1 100 3NS3 600 700 12 NS190 | -7 -9
3|s|EwW 2DS3 110 1NS2 120 10 NS20 | 3 -3
4 | W Both| 4sE-2 200 3HS3 140 60 2 NS150 | 2
5| N| NS 3NW4 430 3NW-2 100 530 1 EW350 | -2 10
6 | E|EW| 3HXS-1 100 3NW3 600 | 500 1 EW60 | -1 1
7 | s [Both| 1NN2 120 1NN2 120 NS80 | 1 4
8 | W [None] 1SN-2 100 3NN3 400 500 1 NS270 | -9 4
9 | N|EW 6CE6 1370 6CE6 1370 EW990 | -9 9
10 | E |Both| 3DS-2 200 3HW3 140 60 2 EW140 | -2
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1 N [None| 3HS3 140 5CXW5 550 690 12 NS130 12
2 E | NS 5CS-1 100 3NS3 600 700 12 NS190 -7 -9
3 S | EW 3NS-2 100 2SE2 110 10 NS20 -3 4
4 | W |Both 4HXS-1 200 5CW-2 200 400 9 NS150 -8 -2
5 N | NS 5DW5 400 3NW5 460 60 2 EW350 -2 3
6 E | EW 3NW3 600 5DE-1 100 700 12 EW60 -11 -4
7 S |[Both 2DN-1 100 1SW1 80 20 1 NS80 -5 4
8 | W |None| 4NS4 430 4SS-4 200 630 12 NS270 4 10
9 N | EW 6CE6 1370 3NE4 630 740 12 EW990 -9 -8
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" 25232 [ Ns [ EW | 25z2x | Ns | EW | #5 | #1 | #5] #1 | #5 | #1 || Mean | Ns | EW
1 | N |None| 3Hs-2 100 2HN4 | 170 270 7 NS130 | -6 -
2 | E|Ns| 2Ns2 120 2NN-1 100 | 220 6 NS190 | -2 7
3|s|Ew| 2sE3 140 | 2Hw-2 | 200 340 8 NS20 | -4 5
4 | W|Both| 4DE2 | 200 5DE-2 | 200 NS150 | 2 2
5| N|Ns| 3Nwa 430 3NW5 460 | 30 1 EW350 | -2 3
6 | E|EW| 5DE2 | 200 3DE4 130 | 330 8 EW60 | 6 2
7 | S |Both| 1sw-1 | 100 1SW1 80 | 180 5 NS80 | 1 4
8 | W |None] 3DN5 | 150 3NS3 400 250 6 NS270 | -3 4
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1 N |None| 4HN5 450 2HS-1 50 500 1 NS130 8 5
2 E | NS 3NS4 630 3NS3 600 30 1 NS190 10 -9
3 S | EW 3DS3 110 2DN2 90 20 1 NS20 3 -2
4 | W |Both 4DE-2 200 4CW-1 100 100 3 NS150 2 2
5 N | NS 4HWS5 450 3NW3 400 50 2 EW350 -3 2
6 E | EW 5DE-2 200 3DE4 130 330 8 EW60 6 2
7 S |Both 2CXE-1 200 1SW-1 100 100 3 NS80 3 -1
8 | W [None 3NN3 400 3NS4 430 30 1 NS270 4 -4
9 N | EW 6CE6 1370 6DW6 1370 EW990 -9 9
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1 | N |None[  4HN5 450 4HN4 420 30 1 NS130 | 8 7
2| E|Ns 3NN3 600 3NS-2 200 | 800 13 NS190 | 9 9
3| s |Ew| 3cs3 110 3NN-2 100 | 210 5 NS20 | 3 3
4 | W |Both| 4cw-1 | 100 4HXS-1 200 | 300 7 NS150 | -2 8
5| N|Ns| sDws 400 3NW4 430 | 30 1 EW350 | -2 2
6 | E|EW| 3HS2 100 5DE-2 | 200 300 7 EW60 | -1 -6
7 | S |Both|  2NN2 120 1NN2 120 NS80 | 1 -
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Y[ 2mzzs [ NS | EW | 2925% | NS | EW | #9 | #4 | #9 | #4 |#9 | #4 || Mean | Ns EW
1| N |None] 4HN5 450 4HN-3 150 | 600 12 NS130 | 8 7
2| E|Ns 3NS-2 200 3NS-1 100 100 3 NS190 | -9 7
3| s |EwW 1NS2 120 3CS-2 100 | 220 6 NS20 3 3
4 | W |Both| 4DE-2 200 3SE-1 100 100 3 NS150 | 2 2
5| N| NS 3NW-2 100 3NW5 460 | 560 1 EW350 | 10 3
6| E|EW 5DE-2 200 5DE-1 100 100 3 EW60 6 -4
7 | S |Both 1NN1 90 3NN3 600 510 1 NS80 -1
8 | W |[None]  4SN-2 100 3NS3 400 500 1 NS270 | -9 4
9 | N |EW 5CE6 620 5CE6 620 EW990 | 9 9
10 | E |Both| 3HW-1 100 3HW3 140 | 240 6 EW140 | 6
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1 N [None| 4HNS 450 3HN5 200 250 6 NS130 8 -2
2 E | NS 3NS-2 200 3NN3 600 800 13 NS190 -9 -9
3 S | EW 3DS3 110 3NS-1 50 160 4 NS20 3 2
4 | W |Both 4HXS4 790 4CE-1 100 690 12 NS150 12 2
5 N [ NS 3NW5 460 3NW4 430 30 1 EW350 -3 2
6 E | EW 3DES 150 3HS-2 100 50 2 EW60 -3 1
7 S |Both 1SW1 80 1SW1 80 NS80 -4 4
8 | W |None 3NS3 400 3NS3 400 NS270 4 -4
9 N | EW 3NE4 630 3NE4 630 EW990 8 -8
10 | E |Both 3HW3 140 3HW3 140 EW140
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1| N |Nonel  4Hs-3 150 2HNS | 200 350 8 NS130 | -7 2
2| E|[Ns| 3Ns3 | 600 3NS-1 100 | 700 12 NS190 | 9 7
3|s |EW| 1Ns2 | 120 2083 | 110 10 Ns20 | 3 3
4 | W |Both| 3HS3 | 140 4SE-2 | 200 60 2 NS150 2
5| N|Ns| 3Nw2 | 100 3NW4 430 | 530 11 EW350 | 10 2
6| E[EW|[ 3Nws3 600 | 3HXS-1 100 500 1 EW60 | -11 1
7| S [Both| INN2 | 120 INN2 | 120 NS8o | 1 4
8 | W [None| 3NN3 | 400 1SN-2 100 | 500 11 NS270 | 4 9
9 | N |EW| s6cEs 1370 |  6CE6 1370 EW990 | -9 9
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I 25232 [ Ns [ EW | 25222 | Ns | EW | #14 | #10 |#14]#10|#1a]#10|| Mean | Ns | EW
1 | N |None| 5CXWS5 550 3HS3 140 690 12 NS130 | -12
2 | E|Ns 3NS3 600 5CS-1 100 | 700 12 NS190 | 9 7
3|s|Ew| 2sE2 110 3NS-2 100 10 NS20 | -4 3
4 | W|Both| scw-2 | 200 4HXS-1 200 | 400 9 NS150 | 2 8
5| N|Ns|[ 3Nws 460 5DW5 400 60 2 EW350 | -3 2
6 | E|EW| 5DE-1 100 3NW3 600 | 700 12 EW60 | 4 11
7 | S |Both|  1swW1 80 2DN-1 100 | 20 1 NS80 | -4 5
8 | W |None| 4ss-4 200 4NS4 430 630 12 NS270 | -10 | -4
9 | N|EW]| 3NE4 630 6CE6 1370 | 740 12 EW990 | 8 9
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